AN\ EFMBRETMLESS R, NETRBEARIROEXER. MEBFHNTERRAFRARBHFOLE LMD AFIBRAS, TANEFREORUSRETERNER
HITLENHNEN, BARSTBH. BRIILNEBVERREAAT, MIISHAEXER.

£ EAMRUEEDR) Use of environmentally friendly printing paper

MERT

XINGFENG ELECTRONICS

=R
= omise B F i

THE ELECTROMAGNETIC VALVE
SELECTION GUIDE

$ NEFRTF
XFBZ %7
' YUEQING XINGFENG ELECTRONICS FACTORY

ML HPTEREHINMEET LIXERES
8815: 0577-61382998 0577-6138 2976
fEE. 0577-6138 0984

BULE: http/fwww.yagxf.ce == \\/EE

#5858 xfdz@ygxf.cc /E_I__\;ﬁ EEJ 3 }_

YUEQING XINGFENG ELECTRONICS FACTORY

2023-5



V|‘|§7® VA==
k { ' ' - gN(;ENG ELEC?I;(ﬁ

S EEBHININSS

Professional sanitary ware solenoid valve leader

B, MILENEE ISEHDE, RINEA,
MESR, ITHERE CPEHIS!

E ‘p W T A HHRE OIS

\e

N

X

_\
A

f;j;_

BREDIER#EERT

RSN Bk o 8] /)N i — R A Bk i 1R 2R 51
B8 & — kL Rk i R R 5

K i Bk i ) 2 5

H2 KBk i i 2 5
ZERT

Bl AL
T

TTTTTT]

L

LUTNEE




yANSIEVA)

Company Profile

FBMAMFBF MILTF20026F, SWAEFHISEREEBHHHNRUEI, AK
FEeEes. BAUSHR. S8EDs, BaliETEE, T/ UFREMIIRES LK, HE
TENHL, HE, BEIRERERS.

ME—ERTHBDERASSH, KEWERIEWCHEERSE L, ARHAHER,
BEEDN: BURY. BESERI. BHRAVSEERI DEicE0BHR

MEBSBEITEED. CUFET. DPOWAR—REN, IEB—TEANFEER
B, BRNXALEEXRBR.

Yue Xingfeng Electronics Factory is a 2002 years intelligent sanitary ware manufacturing
electromagnetic valve of mediumsized enterprises.Professional sanitary ware for
household electrical appliances, induction sanitary ware, intelligence, form a complete
set of automatic control industry.Factory is located in yueqing city east industrial zone,
with perfect r&d, manufacturing,marketing and logistics management system.

Xing feng and insist on techonlogical innovation has been followed, relying on the scale
and professional brand service, constantly bigger and stronger.Products are mainly
dicided into:induction series, intelligent toilet series intelligent wei yu of form a complete
set of solenoid valve.The material is divided into brass, plastic series.

Xing feng electronic through continuous efforts, innovation, and strive to industry leading
enterprises, let each use of establishing product satisfaction, is our never—ending pursuit
of goals.

www.ygxf.com



W ZoW202340
— BT EETIETS

BB, ML IEERIDE, IR, MELE, ILEFRE CPEGIS!

Enterprise
Honor

Sl

OSSR, BRMEBRZ
MFBFEFU QISSUGR. BRUERE" RE/St .
R DIREANTES. UDEAER. MEIFABE. DIREN
Fon. LURBSARE” NEBIER.

Xingfeng Electronics adhere to the “create excellent quality,
the pursuit of customer saisfaction,” the qualitu policy.Adhere
to the “science and technology as a precursor to energy
conservation as the goal, to innovation for the chase to the
quality of life and service for the purpose of” business philos—
ophy.

®
http://wvww.ygxf.cc
Xingfeng Electronics Factory

GRE— . BFEL 18BN, BT

AR D BRI

Bk E
AT NERT
om0

— g 6
S B R FE B

Wlﬁi‘!ﬁ& R LY

X oW A i

YO %L 2008 2 D1EIL 2
EE F 20 TR0z B 21
GO OB A RS

L 2006 0T Bos 1)

AHEANLOLALRAT S A RANE P HARTOS TR, RCRTF i W
AFGRFEFHPLAETATL FHARRSFLIRLE,

APHATHRERA+S. AFRARE. FHRARSREFHRLEEhmy
AEMAIE. EHHASTOEARI G HONEN, ARRETRMEEH, +
LUV TS EEL LRt

FHLERAAF LR LS AR LA, FHLARG. . R B2 kile
FHRANGEALE, B, mud ¥ FRCALY LR,

i

S B RE R

bRt S e ]
OB A iR ESR
HOH %A 205 2 0TI O
i B 2ot ol 16 B
OB A FRTRTRTT

5 B 2060 RE A

AENSYELALRESSARARPEFHRENSVE. AT o
ARAER G Rl TR, SRR 2T,

FEHAFHRERAFA, DFRELE. FHRASURASHRLESRmE
RERMIE, LHHAARIEASE 09 A 16 THRM, AREAELRMITY. +
B R RR S DA

PHLERA SRR AR ERL, FHaRNS. . LR i WL
EHRARAEATIE, M. SELEFFRCALEHBLEL,

W18 0 aweas )
. . X, by
-
-

S 3 B4 & FUE B

EES R WAAl|

u W A N

B O %D s 2o,
A2 AU R 2005 S B 16
BOM OB A Sl

HERCE e i 0§ 0a B

FEMEIRAAHRAFIARAPESHAE PV E. ALRTFF i W
ErdsFEtHRERETaRs. PHRIRASELS LA,

AEHAFHRELY TR, O P FEEE FHRARERMF AL S
LS LT SRS SRR PR T VR BUEE DU LS TR T
HALH A B R ARL B

FHR SR MR L. A A R e, BEe
FHAANHEL LN, B, At LFFALAAPHE LR L,

IE 15 5 0 uasms ;::p .
< 7 20 RAE

KAFENEE —WRIERINN

LS

% M %L 2005 2 00916997

A F Wi Flao200s oz A ow

T OB A R TRAT

HEEHPomsior A28
AEREEALARRAEEARALREHES PRIV E. AL F . &

ARREAEFHBLELT RN, FURARRSFLIEAN,
APHEFHRKRAT A, APHEIRR. $HRAG SR FIALRE Ry

HEHREE. SPHALTAUARL N W D ERS. ANRLTHNTEH, §

Higa RN FRAL AL,

FHASLA S MR R, PR . LR, R L
FHRARBEASE. Hi. BELLFFACALSHRLEL,

B 15 5 W S5mne

5 F BT BT FIUE

HRED LR RN

2 W Aokt

M W 006 2 013N
G e 2008 B e H 24 A
¥OH R A SRR

B E 2006 80w B 0T H

AEMBURLEGRALSARARPK MR IV R, ATRF P A
AFAEFEFHPLELTRRL. tHhaRROSE KA R,

RAHATHREBA TS, D HERE. FHAARIRAYHALE Ehmy
HERMAR. EFHAARANESS NN M IHmM. ARMEIRAIEN. 4
LUTER S TR 3 oF P8 LT

MR RN L, F N, A, L, e, L
FHRARSEAL G, N BULETESTAA FHRLEE

EEEEE—

R sz
"

e B B & FE 45

B S ]

B A Niv

BB B s g 00w,
V# Pk P s e v R
R R A SRR

HH RS a2 A

FENAEHZAHREFEARACRF RSPV E. RERTFHE. ¥
LhpsAatapaBifuse FHRIRRSSLINLR,

APHAPHUERA . AFRALR, $HLAS AR HELL SAmE
BXA AR, EEHIRAEESI A 0V AMIM, AN TRMSE. ¥
Hicd B EREL G RIL,

L T T T L e s
HHAHE LA LR, B, AL EFFALAL SRR

v, Pl

ER AR T TR

S B B E RE

HREY &R AN
E W A Wi RESR

YO WL 2005 2 00RI060, @
GHPNA 05K A B
THR AL Qim’)ﬂ“ﬂﬁ"

BEES Hemsieor Azl

EFRANEATAORETSANAFEFHASTRFVE. LT i -
KEAANSHHERB Lt $HAARRSSEIEL N,

AFHNP RS TE. AF AR, SN HA LR R
BLEMEE. AFUNSRASEART 020 0 M. AR RAE N #
LUSTET B e S PR

RN LS AR, FHMT, B, LR L. L
FHRANHES S0, BE. SR RIFRCALHPRHL,




Application 360° ZZ i
FRBVRUL EFEVEIMEIEIR

OV zemaw V) pistese (V) angmy Bk 3K

Domain
IEEE




Products

contents

ERED IR IR ARSI

v
i
L7

e

ZNF-A
SRR AR
Page 03

ZNF-B
ERS BRI
Page 05

ZNF-D
ERESREERUIR
Page 07

ZNF-F
BRI REB AR
Page 09

FESKBR PR ARS

e
Af

!

b
| BE 4

ZNF-A1
BRI REB AR
Page 04

ZNF-C \
EReSREBHIR
Page 06

ZNF-E
BRI HEEBHIR
Page 08

ZNF-G
BRI REB AR
Page 10

)
=

%

g,
S

LTF-AB)
FSEODIER
Page 13

LTF-B
JSKBXPHR
Page 15

LTF-D
ToSKEXPIR
Page 17

LTF-F
J23REKPHR
Page 19

LTF-A(FR)
J23REXOPHR
Page 14

LTF-C
JESKBK PR
Page 16

LTF-E
TESKEKPIR
Page 18

XCF-A
1] VPR
Page 22

XCF-C180
VPR
Page 24

XCF-E180
1JVPIR)
Page 26

XCF-G180
VDI
Page 28

XCF-1180
1] VPR
Page 30

XCF-K
— PR
Page 32

XCF-B180
1] VPR
Page 23

XCF-D90
ARVl
Page 25

XCF-F180
1] VPR
Page 27

XCF-H
ARyl
Page 29

XCF-J
1] VPR
Page 31

XCF-L
— PR
Page 33

FeREx

RBETMEBRST
Yueqing
Xingfeng
Electronics factory

e INPEXIPIR INP—A LRI PRI ARSI

~== YTH-A180 YTH-B180
2 —IMODIR —IMODR
h.-f-’_&. Page 34 Page 35
~—
R
= YTH-C YTH-D180
ﬂ — P — P
Page 36 Page 37
~—
PEE—IMEBKIPIR RS
; TCF-A TCF-B
B | maom BRI
b Page 40 Page 41
- a
R
i"" TCF-C TCF-D
o P 1
¥ Page 42 Page 43
~—
()
-F{_ TCF-E TCF-F
A | mEom R
. Page 44 Page 45
TCF-G TCF-H
ety il
' Page 46 Page 47
KNP PEZRS
R
~==| DCF-A DCF-B
_ ;-"—Iq, KPR KPR
g | Pageb0 Page 51
~—
R
~==| DCF-C L. DCF-D
ﬁ‘i FoP F
i Page 52 Page 53
~—
)
~—== DCF-E DCF-F
% DI KPR
Page 54 Page 55
—= DCF-G DCF-H DCF-HS
.| KPR KPR ) ity
Page 56 Page 57 - Page 58
SR (— )
- XQ-18 XQ-20A CK-A
58 } 58 B
- | Pageb9 ' Page 59 Page 61
R SR
-5 XQ-20B - XQ-21 CK-B
£BE %B [iFes
- | Page b9 Page 60 Page 61
~— ~—
) VS
XQ-26 — XQ-30 CK-C
£BE %B IS
| Page 60 Page 60 Page 61
~— ~—

(360° L2

\7‘E>

S 5 B I S 4T

(VLAMERE  (VEaK (AR

VZRBTE () BiErERE

Q':vA N
JNO

AT EnEHIARG P RATRIZE], PSR TRk
TREES, 188 T RNTFRIENEAESD, B3 RSRIEE
DTRARRORPEE, RISHIRESEDE, BEEEN
HBpSIEIERE. RAE—H _LHPR, TAUPR. k. B%E
ZINNEE. FRENEEHIRARE, BEREAXNGN S 65
ENE=IEZIS iy

IR

LTS

Summary

Switch used in the automatic control system, fluid control,the internal ues
of two cavity pressure control, enhanced the reliability of the valve and
service life, reduces the maximum and minimum pressure valve switch is
needed for the pulse width, the unique impurities self-cleaning
function,make it has held in superior performance. Take the form of one
and two,complete the washing,siphon, cleaning and other functions. the
fasteners of the products have unts, and the fastening of bolts greatly
increases the strength and longevity of the product.

XINGFENG | 01



XFZ 8L AR BRI A5 ST \IL7
va= Intelligent toilet solenoid valve series O MR () KRR 7 /

}i*}g*ﬁ%y Technical Feature & Parameter Model: ZNF-A 9H:|:2Rv Size of installation

832
BE g
fé e * {EFi%83 Instruction
& ENRERNPEEE Rated voltage DC 9V
ﬁ% ZZBEBRE Coil resistance 20Q +0.5Q(20°C)
;?E “ BIFET Min Current 320mA
BOPEEE Pulse width 30-50ms

T{EFE/] Operating pressure 0.02Mpa~0.8Mpa
NBURE Media temperature | 1°C~75°C
J@MBYE Responding time FF< 0.155% <0.55 open<0.15s close<0.5s

y 77 (Mpa) TVERE (HEBE) Working flow rate (for reference) X =50y + 11.562 +0.5L

* ENSHRBIEER )

Relation between pressure / N
and flow rate 0s e ZEHBFR Accessories
0.4 //

//'
0.2 .//- BENO SR Name
0 | [T | | | | | | X7E (Lmin) 1 BIR% Power cord
0 10 20 30 40 50
2 SqicASies Coil components
FE7J(MPa) Pressure (MPa) 0.05 0.1 0.2 03 0.4 05 0.6 0.7 08 3 IRfJ4-M4  Screw 4-M4
TEBTIIEKG/min) Average flow rare(KG/min) | 10.6 16.5 23.1 29.1 336 384 42 456 48 4 ISR Acting valve core spring
=TT Movable valve core
5 SRR components
HEBE rf p
* HREIR LG Performance fest . o O-rings
sBET4f The strength test &%K1 .6MPa Static pressure 7K FEWithstand voltage pressure 1.2Mpa/5min 7 R= Cover
2 No-load test EBFR9V Voltage 9V AFBRARERR Permissible limiting voltage | V*1.15 8 BEE5HE  Since the spring cleaning
. - N S N — N 4 i
SKEBHSEH IKFEO.8Mpa, EBFESV, CBEUREEIFREMSER o | BRA  Diaphragm components
High water pressure startup and closing At water pressure 0.8Mpa, voltage 9V, the solenoid valve can be started and closed normally 10 IRIALRLE Body components
FKEBISKE JKIR0.02Mpa, EB/R6~9V, EBHIREEIERBISAA
Low water pressure startup and closing At water pressure 0.02Mpa, voltage V9, the solenoid valve can be started and closed normally

SXEFE Leakage upon high water pressure | 1.2Mpa 7ot zero leakage
X EIRE Leakage upon low water pressure | 0.02MpaitiEE <0.1mL/min 0.02Mpa leakage <0.1 mL/min
SBETNSTEILNIESERE BN ALRS150v/50Hz, FREBETR0.75mA, 1 minfiEMAEZINER

E8558E Electric strength Among the conductive part,mounting hole and nonconductive metal,it can withstand 1500V/50Hz leakage current
0.75mA for 1 min without the breakdown

FIB00VIKRRFMA SR EI D SIFSET B EHIEHE=100MQ

The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V=100M Q

2828 H Insulation resistance

. S[E High pressure 1 MPa
==, Air
%% Low pressure 0.02 MPa
NI Sealing test S[E High pressure 1.2 MPa
Static pressure F5& 57K Cold water = e
X Low pressure 0.02 MPa
— B A C
=/E High pressure 0.8 MPa
K Hot water = op
IFK/E Low pressure 0.02 MPa , ,
AR Service life =Min 1,000,000 cycles (CJ/T194-2004) =1,000,000 FE; KFECI/T194-2004Z5K
E- 3 = . . .
N Sk ) N o
* TYEMEZESKR Requirements of working environment ot GEEKDD) DOFKE RTINS ey
I{{%ﬁ/ﬂ%rg ﬁiqﬂa& (ﬂ(&) Waterproof DCline  Two core waterproof line SM line
Temp.of working environ mlent el Permissible limiting pressure (water pressure) <12Mpa J\/J %[I NOTe
TIENETE 35%~90% RH(TCESEZIRT) ZEETE) %EE@’ EWMEKE%GOE . BPETJESE, BIRE (RSSNX FEmETREARESH When ordering, please specify the specifications and quantity of the required product
Humidity of working environment | 35%~90%RH(No condensation state) | Mounting direction t}wlesi:]c%%r;ﬁ)nIgg:;:?ategfgsgg(l) degrees %*U?&Zgo according to the “model meaning”
IS . ZNF-A/DC 6V/EROPT _iDFHKLRAlR Type: znf-a/DC 6V DC pulse type two—core waterproof wire A.
N=li=3
REEE =5~ +80°C (LKD) WRISERSYIT. DRS. ZNF-A; @ EEF DC6V; This model has the following meanings: the type: ZNF— A: Voltage: DC6V;
S 5~ +80°C (No f
torage temp o (No freezing state) QFF XA Eumﬁ}/qﬂ_ﬁ @3 | BEER . OBKERATR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
I 0~9070 SRIND) . 2 K, 1B 4 5 the user has special request, please specify in detail when ordering.
ReEE 25%~95%RHITAERAS 2. WBPERHER, B0 ELE0 If the user h il | ify in detail when orderi
Storage humidity 25%~95%RH(No condensation state)

02 | XINGFENG XINGFENG | 03



XI)I%Z“D gﬁ\ggﬂﬁ EEE;ZQHEJ %EU O &FEEW O bt O #GK XI’I%Z(a

Intelligent toilet solenoid valve series O HAMRIL [ AR

Model: ZNF-A1 HMNIZ R~ B Size of installation Model: ZNF-B SN2 R~ B Size of installation

\Q@

2 2

3 (wrin e |
L ‘ r
9 . = _ -

A PIOUB|OS 18103 JuaBijjelu]

%j
gt
=4
-]
)
i
&
EN
3l

SoLas oA

=k H [S=kvd H o} 7 H
TEHZFR Accessories TERFBFR Accessories FEEROERE Stucture Diagram
= N
BSNO. | 2R Name ESNO.| =R Name

1 IR Power cord 1 IR Power cord 1

2 SBA Coil components 2 SKBEH Coil components

3 IREJ4-M4 Screw 4-M4 3 1R5J4-M4  Screw 4-M4 2

4 ORISR EE Acting valve core spring 4 IRITSEE  Acting valve core spring 3

JE— Movable valve core i Movabl |

5 SRR components 5 T co?r\wlgo le valve core 4

6 ORUE O-rings 6 OHE O-rings g 3 5

7 R= Cover 7 wE Cover i £ 6

8 ERmE Since the spring cleaning 8 EESE  Since the spring cleaning !

9 BRAH Diaphragm components 9 BR A Diaphragm components 7

N _ Aut tic d -
10 RRBH Body components 10 BEnRELH ssuio%n(]:%ﬁpoenceor:?spre 8
11 BRRALE Body components
9

inlet GEKO) DCPKER  WITBEIKES SMZy inlet (KO DCHIKE  WITPEIKE, SMLg
\ VE=Vi Waterproof DC line  Two core waterproof line SM line N T A/ Waterproof DCline  Two core waterproof line SM line
VTR0 Note VIR Note
1. APEIJRN, BRE ‘BSESN IIEETRENRESHT When ordering, please specify the specifications and quantity of the required product 1. FPETTEERY, BRE ‘RSN TR RERESH When ordering, please specify the specifications and quantity of the required product
BAEE, according to the “model meaning” . RIS, according to the “model meaning” .
BS: ZNF-ADC 6V/ERIOPIV_ITBIKEATR. Type: znf-a/DC 6V DC pulse type two—core waterproof wire A. S ZNF-B/DC 6V/EMBPIL LKA, Type: znf-b/DC 6V DC pulse type two—core waterproof wire A.
IWEISERSYWT: DRS.: ZNF-A; @8BEK: DC6V; This model has the following meanings: the type: ZNF— A; Voltage: DC6V; IWEISERSYWT: ORES: ZNF-B; @8/EK: DC6V; This model has the following meanings: the type: ZNF— B; Voltage: DC6V;
QFRAT. BRI @5 |H&AER. inHKLRAlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QHFET: ERIPI; @SB FK&AR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPERKEK, BaJuihF41585, If the user has special request, please specify in detail when ordering. 2. WEBPBRHEKR, BmJEIFmEE, If the user has special request, please specify in detail when ordering.

04 | XINGFENG XINGFENG | 05



XI}I%Z® %ﬁ‘%%ﬁ@ﬁmﬂ %EU O &FEEW O bt O #GK XI’I%Z(a

. . . . AR AR g ATIKER
Intelligent toilet solenoid valve series (O HAMRIL [ AR
Model: ZNF-C Model: ZNF-D SMEZRY @ Size of installation _
S 3
)’ e
1 1 i
- i s
b | ]
. i 3l
-— - -
| ‘ -
ﬁ 1 3
Bl e o ”
| =
o3 : ] : o3 :
TEZFR Accessories FEDfRE Stucture Diagram BTEHRFR Accessories
BSNO. | =R Name BSNO. | R Name
1 BIR% Power cord 1 IR Power cord 1
2 i sy Coil components 2 ZEBE Coil components 2
3 125]4-Ma Screw 4-M4 3 BET4-M4 Screw 4-M4 3
4 SHRITSEEE Acting valve core spring 4 S Acting valve core spring 4
5 I A 5 WAL movadle valve core i 5
6 OME O-rings 6 OflE O-rings | 6
7 R= Cover 7 RE Cover r'{| -'—*L.I r'% = LI.
8 [S)=y Since the spring cleaning 8 BEmRE Since the spring cleaning 1 I [ .."LE
9 B A Diaphragm components 9 BRAK Diaphragm components — == 3
10 R Body components 1 BB Body components = )
10
B A C
‘ ‘ - A
_ - — ) - DCII7XER ¢4 SME;
inlet (1&7J<D ) DC%j(g% W/L\J\Bﬁ7j<gj/% SM?/% inlet (GHKO)D Waterproof DC line Two core waterproof line SM line
N T4/ Waterproof DCline  Two core waterproof line SM line N T4/
VI ER7A0 Note V5D Note
1. PN, BiRE “RSESY” FTMETREARTSH When ordering, please specify the specifications and quantity of the required product 1. PN, BRIE ‘BSSY AT aEAESH When ordering, please specify the specifications and quantity
LS according to the  “model meaning” . BAEE. of the required product according to the “model meaning” .
HIS. ZNF-C/DC 6V/ERIRPT _IDBHK LAl Type: znf-c/DC 6V DC pulse type two—core waterproof wire A. S, ZNF-D/DC 6V/ERMPIL KR AR Type: znf-d/DC 6V DC pulse type two—core waterproof wire A.
IWRSEMRSWIT. OES. ZNF-C; QE/%: DC6V; This model has the following meanings: the type: ZNF— C; Voltage: DC6V; IWRSEHRSVIT. OIS, ZNF-D; Q8K DC6V; This model has the following meanings: the type: ZNF— D; Voltage: DC6V;
QFF KRBT BRI, @3IH&IH) . TINBRK&AIT; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFF KRBT BERKPI, @S| HE&IEH . TINBK&AlG; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WABPFPEIEHENR, BEa ) BINEME, If the user has special request, please specify in detail when ordering. 2. WBPERHEX, B JEiE4hiE0E, If the user has special request, please specify in detail when ordering.

06 | XINGFENG XINGFENG | 07



XI}I%Z® %ﬁ‘%%ﬁ@ﬁmﬂ %EU O &FEEW O bt O #GK XI’I%Z(a

Intelligent toilet solenoid valve series (O HAMRIL [ AR

Model: ZNF-E

—

Model: ZNF-F SN2 R~ B Size of installation

c &
e c'r—\&
-
LT L T - w‘— T
[S=kvd H [ vel H [S=kvi H
TERHRFR Accessories FrEaDfEE Stucture Diagram TEMHRFR Accessories
e /
ESNO.| =R Name BSNO.| =R Name 1
1 IR, Power cord 1 IR Power cord
2 BRI Coil components 2 SBA Coil components 2
3 125J4-M4  Screw 4-M4 3 1B5J4-M4  Screw 4-M4 5
4 oIRINSEE  Acting valve core spring 4 oIIRINGEE  Acting valve core spring
5 | TR componens 5 | AR components 4
6 OfYE O-rings 6 OfYE O-rings 5
7 R= Cover 7 RE Cover
8 EEHKUEE  Since the spring cleaning 8 S/ EE  Since the spring cleaning 5
9 BREH Diaphragm components 9 BR AN Diaphragm components 7
_ Automatic decompre— _ Automatic decompre—
10 Bn)fREAEN ssion componentsp 10 BN ssion componentsp .
11 RIAEH Body components 1" RARRHE Body components
9
- A
B
_ - DCIIXER e SMZ5 _ - DCIIXER ¢4 SME;
inlet (1&7J<D ) Waterproof DC line Two core waterproof line SM line inlet (1&7J<D ) Waterproof DC line Two core waterproof line SM line
N T1E/ N T4/
VI EAD Note VA Note
1. BPAETJSNY, BRI RISSY FIEMETRBERRSH When ordering, please specify the specifications and quantity 1. BPAEIJEN, BiRE “RSSX” FEFETRERESH When ordering, please specify the specifications and quantity
BRI E, of the required product according to the “model meaning” . RIS, of the required product according to the “model meaning” .
HUS. ZNF-E/DC 6V/ERPT _IBFAKE AR Type: znf-e/DC 6V DC pulse type two—core waterproof wire A. HIS. ZNF-F/DC 6V/ERECDT _THKERAIR o Type: znf-f/DC 6V DC pulse type two-core waterproof wire A.
IHRSEARSWIT. ORS. ZNF-E; 8k DC6V,; This model has the following meanings: the type: ZNF— E; Voltage: DC6V; WREERSVIT. DRES. ZNF-F; @8/E. DCsV,; This model has the following meanings: the type: ZNF— F; Voltage: DC6V;
QFFXET: BRI @SIHEER. INFHKEALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFFFB . BERIKPI, @SBRI, DK EALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPBERHEX, B4, If the user has special request, please specify in detail when ordering. 2. WBPBRHEX, BB, If the user has special request, please specify in detail when ordering.

08 | XINGFENG XINGFENG | 09



\FEZ B DB AL] -

o
Intelligent toilet solenoid valve series 4= @60

n@
Model: ZNF-G SMEZRYT & Size of installation Bj }I:J_Q L,\
T P HYOBI4E 35 d

2 VIRET (R VORI (ERK (KRR

80

e -«

TEHRFR Accessories FrEDZE Stucture Diagram

FBENO. | 2FR Name
1 BIR% Power cord
2 BRI Coil components
3 1REJ4-M4 Screw 4-M4
4 TIRTSEE Acting valve core spring
5 | WEUEE  componens o°
6 ORlE O-rings
7 R= Cover
8 BEeE Since the spring cleaning
9 fBRAH Diaphragm components
10 RIRELE Body components

DCBAXE FRITFI7K S SM&g

inlet (EDKD ) Waterproof DC line Two core waterproof line SM line
154
JEIIRAD Note Stk Summary
1. BPEJSN, BRE ‘BSSY” EEmMETaEriSH When ordering, please specify the specifications and quantity NATFEEHIRSP MRS ERATT AT, Pﬂﬁl} Used in the automatic control system, infrared induction sanitary ware fluid,
IBFEE, of the required product according to the “model meaning” . FIFRFR N AESH RG], 128 3RO REmEs, 4 switch control, internal use of two cavity pressure control, enhanced the
1E. ZNF-G/DC 6V/ERIDT, T ATR Type: znf—g/DC 6V DC pulse type two—core waterproof wire A. =5 reliability of the valve and service life, reduces the maximum and minimum
iz SEmE VT %g};qji;\‘;gz‘j J%%EEE DCBV: T;p d Igh the foll p. P ings: the t 'Z?\IF G- Voltage: DCEV- SEER EEEjj—F@FF%ﬁﬁimqujﬁg’ ég}%mr__‘ﬁg’_ﬁ?ﬁb’ pressure valve switch is needed for the pulse width, the unique impurities
SH g = T eE o ',S modet has the following meanings: . © type: - b Voltage: o BHEEEMMTIENE, XB—I—WaPN, TRE)PK) self-cleaning function, make it has held in superior performance.The
OFRE: ERIPI @SIBER . KA Switch type: de pulse type; The type of line: type: two-core waterproof line A; BE. FRNEBHYXARE, BEEBAKRES ST RRERN automatic flushing function is achieved by adopting one in one. The fastener
2. WEPBERHKER, B JuihE41E8, If the user has special request, please specify in detail when ordering. 56, of the product adopts bolts, and the nut connection greatly improves the

strength and life of the product.

10 | XINGFENG XINGFENG | 11



—
@
@
a
@
@
o
@
]
@
3

XFBZ

TV SKBRIPHE] 701

Leading pulse valve series

¥ ARIEFRSEL Technical Feature & Parameter

* {EFFi%8A Instruction

BNERKPER/E Rated voltage DCBV

2%BEERA Coil resistance

17Q +£0.5Q(20°C)

RIKER Min Current 320mA
FOPEEE Pulse width 30-50ms

T/EF/) Operating pressure 0 .02Mpa~0.8Mpa

NBUEE Media temperature | 1°C~75°C

IBAZATE Responding time

FF< 0.1555% <0.5s open=<0.15s close<0.5s

y BE (Mpa)
TVERE (HZ%E) Working flow rate (for reference) X =14.32y + 3.78 +0.5L

0.9
== 0.8 °
* Ej] ‘—30%28’99&% 07 /
Relation between pressure 06 //
and flow rate 05
04 //
03 ——
0.2
0.1 e
0 ! ! X AmE (L/min)
0 5 10 15 20
E/I(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
TREIIE (KG/min) Average flow rare(KG/min) 3.6 5 7.2 8.8 10.2 11.4 12.2 13.6 14.3
* MHBERIE Performance test
SRR The strength test £251 .6MPa Static pressure 7K FEWithstand voltage pressure 1.2Mpa/5min

ZEIIRE, No—load test

Voltage V*3.6(E3/F),pulse width 50ms(EXPFEE) FOUFIRAR(EBE) Permissible limiting voltage V*1.15

SXEBHSRHA

High water pressure startup and closing

K[K0.8Mpa, EBEDCA.5V, AXMEEE0ms, EBHIIRAEF =B SR
At water pressure 0.8Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started and closed normally

FXEBm=SXA

Low water pressure startup and closing

7K0.02Mpa, E3/EDC4.5V, FXMEEE50ms, BHIRAEIERE B SKM
At water pressure 0.02Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started and closed normall

S/KEHEE Leakage upon high water pressure

1.2Mpa 7otf® 1.2Mpa zero leakage

KRS Leakage upon low water pressure

0.02MpajtigE<0.1mL/min 0.02Mpa leakage <0.1 mL/min

35382 Electric strength

SBEN SIS N IESBRECBNAERZ500v/50Hz, JREBEER0.75mA, 1 minfiEMLEEMER
Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown

#B43ERRA Insulation resistance

FEB00VIKIRZR NI S BB A SFSBEE BB = 20MQ

The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20 MQ

5775 Sealing test

o A B[E High pressure 1 MPa
== Air
{5 Low pressure 0.02 MPa
S/E High pressure 1.2 MPa
Static pressure &8k 57K Cold water = ap
& Low pressure 0.02 MPa
SFE High pressure 0.8 MPa
#YK Hot water e
{E%/E Low pressure 0.02 MPa

RS omidl Service life

=Min 1,000,000 cycles (CJ/T194-2004) = 1,000,000 FHR; KFSCJI/T194-2004F5R

* TYEMMEZSK Requirements of working environment

—e S
LIRARRE 1°C~+60°C AR (KA <12Mpa

Temp.of working environ mlent Permissible limiting pressure (water pressure)

TIBANRTE 35%~90%RH(TCESEIRTS) L) BEHHG, MREFBI60E

Humidity of working environment | 35%~90%RH(No condensation state) | Mounting direction

It is mounted in vertical direction,
the inclination doesn’ t exceed 60 degrees

RZEE -5~ +80°C (JLLEKIRTS)
Storage temp -5~ +80°C(No freezing state)
RETE 25% ~95%RH(TESFRIRTS)

Storage humidity

25% ~95%RH(No condensation state)

12 | XINGFENG

O A&BATE O BB O Ak
OJ LA () KERR

XFBZ
A V=

Model: LTF-A(B3)

BERH2FR Accessories

S NO. | iR Name
1 et Coil components
2 BIR% Power cord
3 125 ]4-M4 Screw4-M4
4 IIRIGEE  Acting valve core spring
5 | WAUEE  components
6 ORUE O-rings
7 OZYE O-rings
8 B3k Cover
9 EEWEE  Since the spring cleaning
10 fBR#a Diaphragm components
1 fRUAR Valve body
12 KB Inlet pipe pieces
13 HKEH Water pipe fittings

25mm
VIR

1. BFPEJRE, BRE ‘BSSY IEFRTRERRS
ST

BS. LTF-A/DC 6V/ERPT DAl
IWFRISERSYT: QRS LTF-A; 283/E: DC6V;
QFFRAT:. BRI, @3IH5IH . TiNBHK&AlL;

2. WEBFPBRHEKX, BB,

YMEZR~ B Size of installation

66

SC

G1/2
&

68

FEEROERE Stucture Diagram

IT7KE, SME%

DCI7KER
inlet (iﬁ7j<[] ) inlet (iH7J<D ) Waterproof DC line  Two core waterproof line SM line
Note

When ordering, please specify the specifications and quantity of
the required product according to the "model meaning".

Model: Itf—a/DC 6V/DC pulse type two—core waterproof wire A.
This model is defined in the following: type: Itf-a; Voltage: DC 6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

XINGFENG | 13

=
@
@
o
o
I
o
®
o




\I‘I I jZ;);H]T(;EPﬁﬂ 25| OREAW O UHEE O 5K \I‘I I
va= Leading pulse valve series O IAMERR, O HkERGRE -

Model: LTF-A(ZE) HMNIZR~ B Size of installation Model: LTF-B SN2 R~ B Size of installation

430

@
®
3
>
®

==k [S=kvd [} velps, H
TEMHEZFR Accessories BTEMERFR Accessories FEERDRE Stucture Diagram
BSNO. | 2R Name ESNO. 2R Name
1 LBALT Coil components 1 EBIRL, Powercord
2 BIR% Power cord 1 2 2R BAM Coil components
3 1REJ4- M4 Screwd— M4 2 3 1REJ4-M4 Screw4—-M4
4 SRTSEE Acting valve core spring 3 4 TR ES Acting valve core spring
5 SIRIE %?%/Sgl,?e\ﬂlsve core 4 5 SRR M)Cr)r\w/sgl'?e\rﬁlsve core
6 Ol O-rings 5 6 ol O-rings
7 OAYE O-rings 7 = Cover
8 R= Cover 6 8 BEasE Since the spring cleaning
9 BEheE Since the spring cleaning 7 9 BREH Diaphragm components
8 )
10 BB Diaphragm components 5 10 OfUE O-rings
" (5% Valve body 1 fRUR Valve body
12 HXEH Inlet pipe pieces 10
13 KB Water pipe fittings 11
12
13
25mm inlet GHZKO)  inlet GHZKO) DCRIKE  MIlRA7KER inlet GEZKO) DCIOKE MITIIKE SMZ
Waterproof DC line  Two core wateroroof line Waterproof DC line Two core waterproof line SM line
AT
1TERA] Note 1TEAD Note
. BPETRREY, BRI “RSESWY , FETIRENRIIS  When ordering, please specify the specifications and quantity of « BPIETIRN, BRE HSESNY TIEERTRENRRSH When ordering, please specify the specifications and quantity of
mgﬂz&zgo the required product according to the "model meaning". %*Ué&lio the required product according to the "model meaning".
ig LTF-A/DC 6V/ERIKPT,__IDBRKEAIR Model: Itf-a/DC 6V/DC pulse type two—core waterproof wire A. HS. LTF-B/DC 6V/EMAKPIN KA, Model: Itf-b/DC 6V/DC pulse type two—core waterproof wire A.
MSEMRSVYI . OS. LTF-A; Q8f&: DCBV; This model is defined in the following: type: Itf-a; (2) voltage:DC 6V, HAISERSVYY . DS, LTF-B; @8&: DC6V; This model is defined in the following: type: Itf-b; Voltage: DC 6V,
(S)FF?Q U BRI @S |HEER.  TFK&RAR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFF XA, BERDT; @3 HER. TIpKEAT; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 . WRFPERHREK, BAJBINFMEH. If the user has special request, please specify in detail when ordering. 2. WEPBERHEX, B JEihF4E0E, If the user has special request, please specify in detail when ordering.

14 | XINGFENG XINGFENG | 15



—
@
@
a
@
@
<
)
@

aslies

XFBZ

TV SKBRIPHE] 701

Leading pulse valve series

Model: LTF-C

ZEHBFR Accessories

FBSNO. | 2FR Name
1 SKBEH Coil components
2 IR Power cord
3 1RET4- M4 Screw4— M4
4 SIRITSEE Acting valve core spring
5 AUl eowabe valve core
6 OflE O-rings
7 OflE O-rings
8 %= Cover
9 BEEE Since the spring cleaning
10 BRAH Diaphragm components
1 IR Valve body
12 KB Inlet pipe pieces
13 HKEH Water pipe fittings

inlet GFKO)D
VIR

1. BPEIS, BRI
MABT0EE

JEESTN

, EBITRTRERE

BS: LTF-C/DC 6V/ERIRPT _IDBRKEAIfR
HHEEEMRSYNT. DRSS, LTF-C; @8B&: DC6V,
QFF R BRI, @3 IH&IF.  TINFHK&ALR;
2 . WARPBERHEK, 1BaJEFBEs,

16 | XINGFENG

HMEZR~ B Size of installation

99

F=&aARE Stucture Diagram

DCRHIKE PITKE SM£

Waterproof DC line Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of

the required product according to the "model meaning".

Model: Itf-c/DC 6V/DC pulse type two—core waterproof wire A.

This model is defined in the following: type: Itf—c; (2) voltage:DC 6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A,
If the user has special request, please specify in detail when ordering.

O RFEE O B © AR
O AR (O AR

XFBZ

Model: LTF-D

——

TEH2FR Accessories

FSNO. 2R Name
1 EBIRE Powercord
2 SKBEH Coil components
3 1REJ4-M4 Screw4—-M4
4 DRI ES Acting valve core spring
5 ALY Movabe valve core
6 OAYE O-rings
7 = Cover
8 BEeE Since the spring cleaning
9 [ Si=pislas Diaphragm components
10 RIAR Valve body
Inlgt CEAED
1,
VBRI

« PSRN, BRE -
*Di&zio

SSN” EHMHTRERRSH

YMEZR~ B Size of installation

FrE iR

Note

e

1=

25

77

24.5

20
27

‘HH

‘ructure Diagram

1
2
3
=3
r_r
5

DCBAKEL

Waterproof DC line

baries SMZg

Two core waterproof line SM line

When ordering, please specify the specifications and quantity of

HS.: LTF-D/DC 6V/ERINDPT_ K& AR,
TRSEM/RSYIT: OBS.: LTF-D; @8&: DC6V;
GFF AT BERIRPI, @SB, TDBHK&AR;
2. WBPBERHEX, B JEiF4E0E,

the required product according to the "model meaning".
Model: Itf—d/DC 6V/DC pulse type two-core waterproof wire A.
This model is defined in the following: type: Itf—d; Voltage: DC 6V,

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
If the user has special request, please specify in detail when ordering.

XINGFENG | 17

=
o
o
o
=
@
@
o
o
1
o
»
o




\I‘I I jZ;);H]T(;EPﬁﬂ 25| O REAW O UHEE O 5K \I‘I I
va: Leading pulse valve series O aHMRIRR, O KRR V=

Model: LTF-E HMIZR < B Size of installation Model: LTF-F SMIZR @ Size of installation
@185,
] =l g
9 [ 25 ]|
N 4
[} L ] ‘
2 WYL s 2
' q B =
2 ‘ s
f ]
== b 51
: ’
o3 : S . = .
TEHRFR Accessories FrEaDEE Stucture Diagram, TEMHEZFR Accessories FEERDERE Stucture Diagram
FESNO. 2R Name RSNO. 2R Name
1 IR, Powercord 1 IR, Powercord
2 S ieAslas Coil components 1 2 SKBEH Coil components | !
3 I2EJ4-M4  Screwd-M4 3 I2¥74-M4  Screw4-M4 2 l i ﬂ—g
4 THIRITEE Acting valve core spring 5 4 THIRITEE Acting valve core spring u
5 SRR %%Sgl?e\é?gve core e 3 5 SRR M)Cr)r\w/sgl'?e\rﬁlsve core 4
6 OfUE O-rings i = | P 6 OB O-rings
7 RE Cover =1 4 7 = Cover 5
8 BEErRE Since the spring cleaning : 5 8 BEeE Since the spring cleaning
9 BRAH Diaphragm components 9 BRAH Diaphragm components
10 IR Valve body [ 10 RIAR Valve boby
11 HXEH Inlet pipe pieces 8
l 12 HIKEHE Water pipe fittings
= 8 o
<> 9 0
2
- 1
) s 10 :> A
|
> oA
12
B
et RO DCKE  FUBKE  SME nlet GHKO) DCKE  FUBKE  SME
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line
44:,/ 4&/
VIR Note TEMFN Note
1. BPAEJKRN, SRl “HSsSY” |, FTEMHETRERRS When ordering, please specify the specifications and quantity of . PR, BIRIE ‘HISSWY TBERTRTR ARSI When ordering, please specify the specifications and quantity of
SRS, the required product according to the "model meaning". fr%ﬂ]%‘,&lgo the required product according to the "model meaning".
HS.: LTF-E/DC 6V/EREKDPT KA, Model: Itf-e/DC 6V/DC pulse type two—core waterproof wire A. S, LTF-F/DC 6V/ERIKPIN_TRAKERATR . Model: LTF-F/DC 6V/DC pulse type two-core waterproof wire A.
WHEERSVY . O/BS. LTF-E; @& DC6V,; This model is defined in the following: type: Itf-e; (2) voltage:DC 6V; RSERSYT. OIS, LTF-F, @8&: DC6V; This model is defined in the following: type: LTF-F; Voltage: DC 6V;
QFFRET: ERIKPI; @SIHEER. uBHK&AlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFFRET: BRI, @SR, TIDFHKEALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 . WAFPBERHEK, 18], If the user has special request, please specify in detail when ordering. 2. WAPERHER, B EInEMBisa, If the user has special request, please specify in detail when ordering.

18 | XINGFENG XINGFENG | 19



) B3/ PRI IR/ NP —IR M RKIPiE Z 51 A\ D 7/

o A
@60 QETE’ Concealed small infra red pulse valve / small punch integrated pulse valve series

Bg IjQ / u}\ FARIEFRSE Technical Feature & Parameter
= N - * {EF58A Instruction
IE ﬁ B@ ﬁ% l\$ }Eé) *ﬂ_\ ENERKPEB/E Rated voltage DC 6V

£ZBEBRE Coil resistance 17Q +0.5Q(20°C)
VaRFEHE Uk JAMRER  J#FaK (JHkER SO Moo | Siome
KPTE Pulse wi -50ms

T/EF/) Operating pressure | 0 .02Mpa~0.8Mpa
MFREE Media temperature | 1°C~75°C
IBRZBYE Responding time FF< 0.165%<0.5s open=<0.15s close<0.5s

y [E7 (Mpa)
TERE (HZ%) Working flow rate (for reference) X =14.64y + 3.76 + 0.5L

* ENERENER W

Relation between pressure 08 -
and flow rate 06 -—
- no
0.4 . Pz 2
—* —g i
0.2 ———— 2]
o1 Hopl
3 0 . L= . ‘ ‘ ‘ . x M& (Lmin) NS
< 0 5 10 15 20 iPidy e
3 E =&
H Wi g
§ EJJ(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 ZSI'?E ]
3 @
4 IEWIIE (KG/min) Average flow rare(KG/min) 3.4 4.9 7.6 9.2 10.3 1.4 12.4 13.6 14.4 g
* HBEIRIE Performance test
BET i The strength test B#K1 .6MPa Static pressure 7K FEWithstand voltage pressure 1.2Mpa/5min
M No—load test Voltage V*36(FEE)  Pulse width S0msEXTIES) FUFIRAS(EBE) Permissible limiting voltage V*1.15
SXEBESXA X/R0.8Mpa, EBEDC4.5V, FXPIEES0ms, EBUAREEIERBrIo5XH
High water pressure startup and closing At water pressure 0.8Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally
KEBoISXA K[R0.02Mpa, EB/EDCA.5V, BKMPIEES0ms, BHIREERBISXHE
Low water pressure startup and closing At water pressure 0.02Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally

SNEIFE Leakage upon high water pressure | 1.2 Mpa JoithiE 1.2Mpa zero leakage
{K7KSIEE Leakage upon low water pressure | 0.02Mpaifg&E <0.1mL/min 0.02Mpa leakage <0.1 mL/min
SR SLEILNIESEE 2 ENAREZ500v/50H z, FREBEET0.75mA, 1 minfiiEMAE SR

35322 Electric strength Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown

FE500VIKRRFE NN S8 D SIESBEE 2 [HOVEHE=20MQ

The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V=20M Q

YB2XEBPH Insulation resistance

FR———, ] S[E High pressure 1 MPa

o 1 d i E\% Air
S ; iXE Low pressure 0.02 MPa
BT Sealing test SFE High pressure 1.2 MPa
B ¢ Static pressure F8& %7K Cold water = ap
E8E Low pressure 0.02 MPa
=/E High pressure 0.8 MPa
#K Hot water i gne
K& Low pressure 0.02 MPa
&MY Service life =Min 1,000,000 cycles (CJ/T194-2004) =1, 000, 000 [FHE; RFECI/T194-2004E5K
* TEFRMEZESK Requirements of working environment
FREREA Summary LIBAEE 19C~+60°C FOIHRIE OKE) <1.2Mpa
Temp.of working environ mlent Permissible limiting pressure (water pressure)
) IR HIARS L INR RN S B ERES RS =l i i , infrai i i i -y N o RNENBI60E
NABFERHIRG D YMERNSEERE SRR, FxieE, R Used in the automatic control system, infrainfra red ray induction sanitary ware TrESE 359%-90% RHOCLSERRTS) ] FEHHO, MREARBI60E

BRI T EUEIH T RIER S, 1228 TR SEMFGRETD, 48 toilets, switch control, internal use of two cavity pressure control, It is mounted in vertical direction,

Humidity of working environment | 35%-90%RH(No condensation state) | Mounting direction

B EReREENTRTXAENRODEE, MSNAMEEELY  enhanced the reliability of the valve and service life, infra reduces the maximum the inclination doesn” t exceed 60 degress
¢, [EEEIROHEMNE., XE—H—ENFER, TWEDP  and minimum pressure valve switch is needed for the pulse width, the REEE -5~ +80°C (TS KIRTS:
IKIDEES unique impurities self—cleaning function, make it has held in superior Storage temp -5~ +80°C (No freezing state)
performance. The automatic flushing function is achieved by adopting one R1EE 25% — 95%RH(TCLEBIRT)
in one. Storage humidity 25% - 95%RH(No condensation state)

20 | XINGFENG XINGFENG | 21



NFEZ /NP RRIPR /N — (L BR PR R e YXFEZ

Concealed small infra red pulse valve / small punch integrated pulse valve series 0 AIAMERRERL (AR

Model: XCF-A HMNIZ R~ B Size of installation Model: XCF-B180 SN2 R~ B Size of installation

36.5

74

58

G1/2

12.5

32

215
30.5
%‘ 1" é—>‘ m
@D
[S=kvd H = H [S=kvd H o} = H
TEMHRIR Accessories Fraa D #ZBE Stucture Diagram TERHBIR Accessories FE G EBE Stucture Diagram
o N
g Prge
B ESNO. 2R Name EENO. | SR Name &;‘Jﬁ\%
1 SEA Power cord 1 1 SLBAEN Coil components ] %ﬁ?ﬁé
g 2 EBIR% Coil components 2 IR Power cord Pyt :
g 2 W &
5 3 1BEJ4-M4 Screw 4-M4 s 3 1REJ4-M4 Screw4—M4 g"ﬁ\
] 4 SRITSEE Acting valve core spring 4 TRITSEE Acting valve core spring 3 3l
JEp— Movable valve core 4 N
5 RTEEF components 5 TR M)?%/Sglnee\rﬁlsve core 4
6 OAYE O-rings 6 OFUE O-rings
7 OAYE O-rings 5 7 OFUE O-rings 5
8 mE Cover 8 R=E Cover
- ) ) ) 6
9 BEEE Since the spring cleaning = 9 BiEeE Since the spring cleaning 6
10 BREH Diaphragm components 8 10 B4R Diaphragm components 7
11 R Valve body 9 11 IR Valve body 8
12 HKEHE Inlet pipe pieces 12 HXEBE Inlet pipe pieces 9
13 KB Water pipe fittings 10 n
11
11
12
12
13 A A
inlet (GHZKO) inlet GHKOD
A/B A/B A/B A A , , , A/B A/B A/B , / ,
— — DCRIKE MBS SME ' DCRIKE  MUBIKE  SME
1 1 mm 1 5mm 1 8mm inlet (ﬁ7J<D ) inlet <1H7J<D ) Waterproof DC line Two core waterproof line SM line 1 1 mm 1 5mm 1 8mm 25mm 30mm Waterproof DC line Two core waterproof line SM line
N TS/ N L =7
VI GAD Note VIEAD Note
1. BFPESER, BiIRE eSSV | TUEEFRENRD When ordering, please specify the specifications and quantity of the requi infra red product 1. BRI, BiRE AsSsY” |, HEETREATS When ordering, please specify the specifications and quantity of the requi infra red product
SIEFEE, according to the "model meaning". HSHIEZ, according to the "model meaning".
IS, XCF-A/DC 6V/EREPT_TBHKEATR . Type: XCF — A/DC 6V/DC pulse type two—core waterproof wire A. IS, XCF-B180/DC 6V/ERIKDPTN_HBAKERAIR Type: XCF — B180/DC 6V/DC pulse type two—core waterproof wire A.
HEISEARSYYT. DFIS. XCF-A28/+&: DC6V; The figure of this model is the following: type: XCF — A; Voltage:DC6V; WRSEARSWYI . OES. XCF-B180;28&: DC6VY, The figure of this model is the following: type: XCF — B180; Voltage:DC6V;
QFFEAT. BEROPI, @SR, mBhKEAL; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFF KA BERRPR; @3 |HEEA. TIFHKEALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WARPEIHELR, Bl WinEmisns, If the user has special request, please specify in detail when ordering. 2. WRPERHENX, Ea)BiNF4pisEaa, If the user has special request, please specify in detail when ordering.

22 | XINGFENG XINGFENG | 23



NFEZ  BENOROE/ NG RDRAD) ST \XFEZ

Concealed small infra red pulse valve / small punch integrated pulse valve series 0 AIAMRRERL (AR

Model: XCF-C180 HMNIZ R~ B Size of installation Model: XCF-D90 SN2 R~ B Size of installation

430

| -
|G ﬁMﬂ Il
285
37
(i 2 o ~eT
-|?'!| ill ’IW‘-"-‘; @
L1 B
: | © @y
112 ‘
[S=kwd H = H [S=kvd H o} H
TERHRFR Accessories FrE D fRE Stucture Diagram ZEHRFR Accessories FrEDRE Stucture Diagram
g: SN0 g2 Name 1 RSNO. SR Name
5 1 BRI Power cord 1 R Power cord
2 ZREBAE Coil components 2 LBAE Coil components
3 185J4-M4  Screw4-M4 3 125J4-M4  Screwd-M4 :
4 TIRIG3EE  Acting valve core spring 2 4 TIRIGEE  Acting valve core spring g
5 AL Components 3 5 | WEUANE  componens
6 ORUE O-rings — 4 6 OfuE O-rings
7 OfuE O-rings 7 OfiURE O-rings
8 ®= Cover 5 8 R= Cover
9 EEM8E  Since the spring cleaning 9 BEENEE  Since the spring cleaning
10 fEF4E  Diaphragm components 6 10 BREH Diaphragm components
11 A Valve body PE=EA ; 1 [l Valve body
12 HIKBEE  Inlet pipe pieces ﬁ
13 HKE#E  Water pipe fittings %3 9
- :
11
12
13
B
B
i Bé | | ‘ ‘
43mmRYNES 35mm inlet GEKTD DCBAIXZL FRITBHXES » SM@% inlet GEKOD DCWWJ(Z% FRIBAK SM?/%
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line
N T4E4 N T4/
VI EAD Note VI EA Note
1. BPEITSN, BiRE RSSY , IHMRFRERES When ordering, please specify the specifications and quantity of the requi infra red product 1. BPEITSN, BiRE RSSY , IR RERE When ordering, please specify the specifications and quantity of the requi infra red product
ST S, according to the "model meaning'. SHIBNRKE, according to the "model meaning'.
AUS.: XCF-C180/DC 6V/E MNP _BH7KEAl Type: XCF - C180/DC 6V/DC pulse type two—core waterproof wire A. AUS.: XCF-D90/DC 6V/ERAKDI _LBA7K LAl o Type: XCF — D90/DC 6V/DC pulse type two—core waterproof wire A.
IWAISEMRSYITR. DRIS. XCF-C180;28K: DC6V, The figure of this model is the following: type: XCF — C180; Voltage:DC6V; IWERISEMRSYI R . DAIS. XCF-D90;288&: DCBY,; The figure of this model is the following: type: XCF — D90; Voltage:DC6V;S
QFFER: BEARRPIN @SIBEIH. TBRK&AlR Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFFMT,. BROPI; @3 IB&ER . —iEHRHKZRAIR; witch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WRPERHEX, Ba]BihF4B150H, If the user has special request, please specify in detail when ordering. 2. WERPERHKEK, B JuimF4hisis, If the user has special request, please specify in detail when ordering.

24 | XINGFENG XINGFENG | 25



NFEBZ | BN/ h— S ieRzo| T \XFEZ

oncealed small infra red pulse valve / small punch integrated pulse valve series (O HAMRIL [ AR

Model: XCF-E180 HMNIZ R~ B Size of installation Model: XCF-F180 SN2 R~ B Size of installation

230 ®30

27.5

%ﬁ%
¥

34 B B}

LT FR Accessories FrEaD#EE Stucture Diagram TEMHRFR Accessories FrEaDA#E Stucture Diagram
BENO. | 2R Name ESNO 2R Name

1 IR Power cord 1 IR Power cord

2 £ BALE Coil components 2 HSEBE Coil components

3 ZEJA-M4 Screw4-M4 3 REJ4-M4 Screw 4-M4

4 THIRITSEEE Acting valve core spring 4 SR E Acting valve core spring

5 | AU oomaomems® oM 5 | mmmms  Movablevalve core

6 OflE O-rings 6 OfIE O-rings

7 RE Cover 7 OB O-rings

8 BEkeE Since the spring sleaning 5 8 mE Cover 5

9 [=)=pislas Diaphragm components 9 BEnE Since the spring cleaning H

10 ORYFE O-rings 6 10 [ =l Diaphragm components g

11 (3N Valve body 11 IR Valve body ﬁ 3
12 REWTFX  Flow fegulatiang switch | 5

8 13 HKEH Inlet pipe pieces

10
9

11

11

>
w
)

— —

‘ ‘ A ‘ ‘
inlet (7K DCRHKEL FRITBHK R SMZs 13mm 156mm 18mm 28mm inlet 7K DCHIIKZ% FRITEIKZ SMZ;

Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line
N T4 NT4E/
VI EAl Note VI EA Note
1. BPEIJSN, BiRE RSSY , IERTFRERRS When ordering, please specify the specifications and quantity of the requi infra red product 1. FAPEIJSN, BRE BSESY , IERRTRERRS When ordering, please specify the specifications and quantity of the requi infra red product
AISAHE, according to the 'model meaning". HMSFORE according to the "model meaning".
IS, XCF-E180/DC 6V/ERMGIPT _TRHKEAIR o Type: XCF — E180/DC 6V/DC pulse type two—core waterproof wire A. S, XCF-F180/DC 6V/ERAKPT, DAL Al Type: XCF - F180/DC 6V/DC pulse type two-core waterproof wire A.
WHRISEMRSYIR. DRSS, XCF-E180,288/E: DC6V; The figure of this model is the following: type: XCF — E180; Voltage:DC6V; WARISEMRSYIR. DRIS. XCF-F180;28K: DC6V, The figure of this model is the following: type: XCF — F180; Voltage:DC6V;
QFFXHT. BERIPI @S| B&ER . —iNFHKEAIL; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFFFB: ERPT; @S |IBEER . OFIKEA; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPBERHREX, Bal]BiF4B1s0H, If the user has special request, please specify in detail when ordering. 2. WAPERHMEK, BEJIBinmFMEe,. If the user has special request, please specify in detail when ordering.

26 | XINGFENG XINGFENG | 27



) %Z® ) iE 2=\ PRKIPHER)/ NP —IR KPR RS T A R %Z@’

oncealed small infra red pulse valve / small punch integrated pulse valve series 0 LLAMERRERL (AR

Model: XCF-G180 HMNIZ R~ B Size of installation Model: XCF-H

230

G172

258

IR Accessories FEERDREE Stucture Diagram TR Accessories FEERDAEBE Stucture Diagram
FBSENO R Name FBSNO. ZHR Name
1 EBIR% Power cord 1 1 BIR% Power cord 1
2 i rAsyas Coil components 2 BSicyas Coil components
3 BEJ4-M4 Screw 4-M4 3 12EJ4-M4 Screw 4-M4
4 IREEE Acting valve core spring 2 4 [ IEEES Acting valve core spring 2
5 ABTAE  Components 3 5 WA components 3
6 OZYE O-rings 4 6 OfYE O-rings - .
7 OME O-rings 7 OHE O-rings
8 Rz Cover 5 8 Rz Cover 5
9 BEhRE Since the spring cleaning 9 BEmRE Since the spring cleaning
10 [=l=yistas Diaphragm components 6 10 [lai=as Diaphragm components g
1 RUA Valve body 7 1 fRIA Valve body ﬁ 8
12 KB Inlet pipe pieces 8 12 KB Inlet pipe pieces 9
13 HKEH Outlet fittings 9 13 KB Outlet fittings % 10
10

11 12
! Z:> Al
' 12
A A :> 13 13
‘ A B A/B AB B

15mm
A/B

inlet GHKO) inlet GHKO)D

AB AB AB , / AB B A A , /
13mm 15mm 25mm 28mm DCRAXE AL SM£% 23mm 25mm 28mm 40mm inlet GFEZKCI)  inlet GHZKOD DCRI7KE MITEAXE SM£,
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line
Mz T4 N T4
VTR0 Note VI ER7A0 Note
1. FAPEIJS, BRE BSESY , IERRTRERRS When ordering, please specify the specifications and quantity of the requi infra red product 1 AP, BRiE ‘BISSNY , THEAETRERRS When ordering, please specify the specifications and quantity of the requi infra red product
HASHEZ, according to the "model meaning’. WA, according to the "'model meaning". .
S XCF-G180/DC 6V/EMBKPT, _IIK&AR, Type: XCF — G180/DC 6V/DC pulse type two—core waterproof wire A. S XCF-H/DC 6V/ERADI _BB7K LAl Type: XCF - H/DC 6V/DC pulse type two-core waterproof wire A.
IWRSEMRSWVITF. DRS. XCF-G180;,28K: DC6V; The figure of this model is the following: type: XCF — G180; Voltage:DC6V; IWRISEMRSWYIT: DRSS, XCF-H;284&: DC6V,; The figure o.f this model is .the foIIowmg:.ty;.)e: XC_F - H: Voltage:DC6V; _
QHFFER: ERIPI; @S|B&IT. —TBRKEAlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QHFFER: ERIPI; @5S|B&IT. —TBRKEAlR; ﬁﬁftg?iggipzsz try(;pe:e'lzze tl\ézze()fshngtyirr)\ea;\t/\;(i)l_\:/:g; v(\)/s;::ipr)]roof line A;
2. WRPBRHREKR, 1BEIBIFHEER, If the user has special request, please specify in detail when ordering. 2. WEPBIBHENR, B eeFMmis. P quest, p pecity 9

28 | XINGFENG XINGFENG | 29



o
g
2
8
-1
o
g
3
g
2

XFBZ

iE 2=\ PRKIPHER)/ INP—IR KPR RS

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-1180

-_'?{){'F\_ _M"‘N“

HMEZR~ B Size of installation

830

B

63

TEH2FR Accessories R RE Stucture Diagram
FESNO. k= Name

1 IR Power cord

2 izl Coil components

3 1REJ4-M4 Screw 4-M4

4 oRITEE Acting valve core spring

5 MR  componens

6 (o)illic] O-rings

7 onE O-rings

8 RE Cover 5

9 BEeE Since the spring cleaning

10 fBRAH Diaphragm components

11 RUA Valve body

12 HKEH Inlet pipe pieces

13 HKEH Outlet fittings 0
10
11
12

B 13

A
inlet GHKO)D
VBRI

1. BPAIJESRN, BRE ‘HSESY , IR RERRS

MUSAEE

IS XCF-1180/DC 6V/ERIKDPT _FIX&AR,
IWHAISEMRSYITR. DRIS. XCF-1180;,2884: DC6V;
QFF XA BERIOPIN; @5 B, TiNFHKERAlR;
2. WERPERHKEK, B e 4sie,

30 | XINGFENG

DCRAKER PITHEKE SMZ;
Waterproof DC line Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of the requi infra red product
according to the "model meaning".

Type: XCF - 1180/DC 6V/DC pulse type two-core waterproof wire A.

The figure of this model is the following: type: XCF - 1180; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

O ABATE O PPEERE O Ak
OJ ZLAMAIRY. () KERR

\XFEZ

Model: XCF-J

ZERHBFR Accessories

FSNO. = Name
1 BIR% Power cord
2 KA Coil components
3 1REJ4-M4 Screw 4-M4
4 SRR E Acting valve core spring
5 MAEE  commponends
6 oflE O-rings
7 oflE O-rings
8 RE Cover
9 BEieE Since the spring cleaning
10 BR A Diaphragm components
11 TR Valve body
12 KB Inlet pipe pieces
13 HKEH Outlet fittings

A

inlet GFEKO)D
VBRI

1. BPEIEN, BRE (eSS

MASTOEE

HIS: XCF-J/DC 6V/ERPT _IDBHKEAIR
IWRSEARSYIT. @RS, XCF-J;28E: DC6V,
QFFRB: ERIPT @SB . K& A;
2. WEBPBRHEK, B JEIFmiEE.

, TR REARS

Y2 R~ B Size of installation

830

?

G

| S

\ |2 9
9; — &)

50

FrGaD#EE Stucture Diagram

DCBAKEL

Waterproof DC line

Note

MK SM%;

Two core waterproof line SM line

When ordering, please specify the specifications and quantity of the requi infra red product
according to the "model meaning".
Type: XCF - J/DC 6V/DC pulse type two-core waterproof wire A.

The figure of this model is the following: type: XCF - J; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A,
If the user has special request, please specify in detail when ordering.

XINGFENG | 31

s
=
s
P
3
a2




\XFEZ 555\ PBRIPI/ NP — AL BRI D] T \XFEZ

Concealed small infra red pulse valve / small punch integrated pulse valve series (O HAMRRL ([ AR

Model: XCF-K SN RN B Size of installation Model: XCF-L HNMEZR B Size of installation
s
W i

l &

“ #
oL
ZEHRFR Accessories FEERDRE Stucture Diagram 2 TIRH-BFR Accessories FEERDRE Stucture Diagram

gﬁ FESNO. 2FR Name FESNO. 2R Name

E 1 ==h=E5 Power cord 1 1 IR Power cord
2 izl Coil components 2 o Aslas Coil components
3 1B5Ja-M4 Screw 4-M4 2 3 1REJ4-M4 Screw 4-M4 5
4 THIRIESEE Acting valve core spring 3 4 SRR E Acting valve core spring %i
5 IR M)?%’Sglneeﬁ?lsve core 5 SR %%Sglr?eﬁlsve core g
6 OfYE O-rings 4 6 ORYE O-rings
7 OfYE O-rings 5 7 O O-rings
8 Rz Cover 8 RE Cover
9 BERRE Since the spring cleaning 9 BiEieE Since the spring cleaning
10 BRAH Diaphragm components _ 6 10 BHAH Diaphragm components
1N REETHX Flow regulatiang switch = 8 11 SN Valve body
12 IREH Filtering component ' 7 12 KB Inlet pipe pieces
13 GBS Valve body = 2 13 HKE Outlet fittings

I o 13 Ny 12
A ‘ ‘

* - /s
o Ve

inlet GHXO) DCIOKE MK SMZ inlet GEXO) DCI7KE MITEI7KE SMZ
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line

N T4 N T4/

VI EAD Note VIEA Note

1. BPEITSN, BiRE RSSY , IHRTFRERERS When ordering, please specify the specifications and quantity of the requi infra red product 1. FBFPETREN, BRiE RSSY , IR RERRS When ordering, please specify the specifications and quantity of the requi infra red product

ST S, according to the "model meaning'". PSR according to the "model meaning'.

IS . XCF-K/DC 6V/ERKPTN KA TR. Type: XCF — K/DC 6V/DC pulse type two—core waterproof wire A. IS . XCF-L/DC 6V/ERIFPT _ITFHKLAIG. Type: XCF - L/DC 6V/DC pulse type two—core waterproof wire A.

HAISEARSYYTR. DS, XCF-K:28BK: DC6V; The figure of this model is the following: type: XCF — K; Voltage:DC6V; HWHRISERSYY . DS, XCF-L; @8ff&: DCBV; The figure of this model is the following: type: XCF — L; Voltage:DC6V;

QFFER: ERIPI @S|IB&IH. WK AlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFRAT. BEREPIN @S|B&IR. ITBHKEAIR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

2. WRPERHEX, Bal]BihF4B150H, If the user has special request, please specify in detail when ordering. 2. WAPERHENKX, BEJBInmF4MEe. If the user has special request, please specify in detail when ordering.

32 | XINGFENG XINGFENG | 33



NFEZ  EENOROE/ NSRRI ST \XFEZ

Concealed small infra red pulse valve / small punch integrated pulse valve series 0 LIAMERRERL (AR

Model: YTH-A180 HMNIZ R~ B Size of installation Model: YTH-B180 SN2 R~ B Size of installation

930

G172 ©
Gy 2
J&J =
4
(o
M
‘ ‘ 1475
[S=kwd H = vel H [S=kvd H o} 7 H
TEMHEZFR Accessories FrEaDfEE Stucture Diagram BEHERFR Accessories FEERDHERE Stucture Diagram
BSNO. 2R Name HBSNO. 2R Name

1 R Power cord 1 IR, Power cord

2 EEE Coil components 2 ZLEEE Coil components

3 1REJ4-M4 Screw 4-M4 3 IREJ4-M4 Screw 4-M4 4

4 TR EE Acting valve core spring 4 SHIRITEE Acting valve core spring %i

5 | WEDEH  components 5 | WEUEE  componenss

6 OB O-rings 6 OfUE O-rings

7 OB O-rings 7 OfUE O-rings

8 RE Cover 8 RE Cover

9 S)=y Since the spring cleaning 9 BEReE Since the spring cleaning

1 BRAEH Diaphragm components 10 B A Diaphragm components

11 RERTHX Flow regulatiang switch 1 mEETHx Flow regulatiang switch

12 jOpseistias Filtering component 12 jupiseistas Filtering component

13 MR Valve body 13 IRIR Valve body

DCRAXZ FRITRI7K S SM& DCRIXZ RITEI7K S SM&
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line

N T4 NTAE/
VI EAD Note VI ER7A0 Note
1. BPEJEN, BIRE “HSESY” |, FEMEFREAIS When ordering, please specify the specifications and quantity of the requi infra red product 1. FPAETERDNY, BRI WSSV | FIEMEFTRERS When ordering, please specify the specifications and quantity of the requi infra red product
FIE N according to the "model meaning". HASHEE, according to the ‘model meaning".
S, YTH-A180/DC 6V/ERAPTN _iTHK&AIR Type: YTH — A180/DC 6V/DC pulse type two-core waterproof wire A. S, YTH-B180/DC 6V/E RPN _iNAK AR Type: YTH — B180/DC 6V/DC pulse type two—core waterproof wire A.
TRISEMSYIT . ORS: YTH-A180;28&: DC6V; The figure of this model is the following: type: YTH — A180; Voltage:DC6V; WREEKRSWVYIT. DES. YTH-B180;28&: DC6V; The figure of this model is the following: type: YTH — B180; Voltage:DCBV;
QFFER: ERIPI @S|IB&IH. TBRK&AlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QFFER: BERIPI; @S|IH%RIT. —TBRKEAlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WRPBERHEX, Bal]BihF4B150H, If the user has special request, please specify in detail when ordering. 2. WAPERHMEK, BEJBInmFMEes, If the user has special request, please specify in detail when ordering.

34 | XINGFENG XINGFENG | 35



XK I BE 2=\ PRKIPHR)/ NP —IR GBI P IR RS S mE e XK I

Concealed small infra red pulse valve / small punch integrated pulse valve series O SLOMARL. (ARG

Model: YTH-C HMNIZ R~ B Size of installation Model: YTH-D180 SN2 R~ B Size of installation

fﬂlﬂfﬂj

830

= i

8 ; 3 g
. o - 50
i
o3 [ H =231 H = 2 i
ZEHR2FR Accessories Fr&a D #EE Stucture Diagram TERFZFR Accessories F=& D RE Stucture Diagram
S g FESENO. | ZFR Name ESNO. | =R Name
1&% : ! il Power cord 1 BIRL%, Power cord
] %35% 2 LB Coil components 2 KEBT Coil components
WE o & &
Ig\@ = 3 IREJ4-M4 Screw4—-M4 3 125T4- M4 Screwd—Ma
3l g 4 THIRIESEE Acting valve core spring 4 oIRITEE Acting valve core spring
5 DR componenss - 0 5 DEGAE  Mowadle valve core
6 OflE O-rings 6 OfYE O-rings
7 OflE O-rings 7 OflE O-rings
8 R=E Cover 8 = Cover
9 BEEonE Since the spring cleaning 9 BiEEE Since the spring cleaning
10 BH B Diaphragm components 10 (=) opistian Diaphragm components
1 REWTIHAX  Flow regulatiang switch " MEBWTIFR  Flow regulatiang switch
12 IRA Filtering component 12 IIRAH Filtering component
13 BIIEN Valve body 13 IR Valve body
14 HKEH Inlet pipe pieces 14 HKEH Inlet pipe pieces
A
inlet GHXO)

VO WE

% a|

13mm 15mm 18mm DCRIZKE RTINS SMZ, 13mm inlet GEZKOI) DCRIZK&  FRIEHKE SME
Waterproof DC line Two core waterproof line SM line Waterproof DC line Two core waterproof line SM line
4&/ N T4/
J BRI Note VI EA Note
1. BPEJEN, BiRE eS|, THERETZERRS When ordering, please specify the specifications and quantity of the requi infra red product 1. AP, BRiE ‘BSESN , THEAETRERRS When ordering, please specify the specifications and quantity of the requi infra red product
MT%*D%QEO according to the "model meaning'. TS, according to the "model meaning'.
HS. YTH-C/DC 6V/ERKPIN_IDFKEATR. Type: YTH — C /DC 6V/DC pulse type two—core waterproof wire A. HS. YTH-D180/DC 6V/ERAKPT, _BaKEAlR. Type: YTH — D180/DC 6V/DC pulse type two—core waterproof wire A.
FRISERSYIT. DRS. YTH-C ;28fk: DC6V, The figure of this model is the following: type: YTH — C; Voltage:DC6V; WHRISERSYIT. DS, YTH-D180;28&: DC6V; The figure of this model is the following: type: YTH — D180; Voltage:DC6V;
QFF X, BERODT,; @3 |H&ER. —BhK&ALR: Switch type: dc pulse type; The type of line: type: two—core waterproof line A; QKA. BEREPIN @SIB&IF. HBRKEAIR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WHEPBRHENX, 15 ]I+ 48sE, If the user has special request, please specify in detail when ordering. 2. WAEPERHENR, BEJBIFDE, If the user has special request, please specify in detail when ordering.

36 | XINGFENG XINGFENG | 37



2
@
=
)
@
=%
°
=
@
@
<
2
<
@
1
&
B
»

(AT HE

38 | XINGFENG

(360° L2l )

AL

BRI T

(M Briskrtse

VasgEs MK (1K

Summary

Used in the automatic control system, infrared induction sanitary ware fluid,
switch control, internal use of two cavity pressure control, enhanced the
reliability of the valve and service life, reduces the maximum and minimum
pressure valve switch is needed for the pulse width, the unique impurities
self-cleaning function, make it has held in superior performance.The
automatic flushing function is achieved by adopting one in one.

4
~ RBEXEEPRE

" Ceramic integrated pulse valve series

XFBZ

FARIEMRSHE Technical Feat
* {EFEi%8A Instruction

ure & Parameter

Rated voltage DC6V

Coil resistance

17Q+ 0.5Q (20 )

Min Current 320mA
Pulse width 30-50ms

Operating pressure 0 .02Mpa~0.8Mpa

Media temperature 1 ~75

Responding time < 0.15s

< 0.5s open< 0.15s close< 0.5s

* ENERENXR
Relation between pressure
and flow rate

y Mpa
o Working flow rate (for reference) X =15.58y + 1.15+ 0.5L
0.9

o —
/

0.6 P

0:4 /

0.3
/'
0.2 /
0.1 pa— .
) I I I X L/min
0 5 10 15
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 1.3 2.56 4.5 6.36 7.8 9.4 10.6 11.6 131

The strength test 1.6MPa Static pressure Withstand voltage pressure 1.2Mpa/5min
No-load test Voltage V*3.6( ),Pulse width 50ms( ) ( ) Permissiblelimiting voltage V*1.15
0.8Mpa DC4.5V 50ms,
High water pressure startup and closing At water pressure 0.8Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started closed normally
0.02Mpa DC4.5V 50ms,
Low water pressure startup and closing At water pressure 0.02Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be startde and closed normally
Leakage upon high water pressure | 1.2Mpa 1.2Mpa zero leakage
Leakage upon low water pressure | 0.02Mpa < 0.1mL/min 0.02Mpa leakage < 0.1 mL/min

Electric strength

500v/50Hz, 0.75mA,1 min
Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz
leakage current 0.75mA for 1min without the breakdown

. ’ 500V > 20MQ
Insulation resistance The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20MQ
High pressure 1 MPa
Air
Low pressure 0 .02MPa
High pressure 1.2MPa
Sealing test Static pressure Cold water
Low pressure 0 .02MPa
High pressure 0 .8MPa
Hot water
Low pressure 0 .02MPa
Service life = Min 1,000,000 cycles (CJ/T 194-2004) = 1,000,000 CJ/T194-2004

* TYEMREZESK Requirements of working environment

Temp.of working 1 ~+60
environment

()
Permissible limiting pressure
(water pressure)

< 1.2Mpa

35%~90% RH(

) 60

H”".“'d"y of working 35%~90% RH(No condensation state) Mounting direction It |s_mo_unt§d n vertlf:al direction

environment the inclination doesn’ t exceed 60 degrees
-5~+80 (

Storage temp -5~+80 (No freezing state)

25% ~95% RH(
Storage humidity

)
25%~95% RH(No condensation state)

XINGFENG | 39

3]
%
{7
fo
BX
i
&
A
3l

sauas aneA asind payelBaiul olweIa)




5
%
£
1
B
@
i
%
)

o
o
8
El
S
=
=
@
=
)
@
=%
°
=
@
@
<
2
<
@
17
&
B
»

& — 1L BKIP I

Ceramic integrated pulse valve series

XFBZ

Model : TCF-A HMNIZ R~ B Size of installation
G1/2 ©
25.8 -

@

N
8'G¢C !
Ve

TEEZFR Accessories F=Ga0 %@ Stucture Diagram

z
o

Name

Power cord

Coil components

4-M4 Screw 4-M4

Acting valve core spring

Movable valve core
components

(0] O-rings

Cover 5

Since the spring cleaning

© |0 ([N g |~ |wWw|N |-

Diaphragm components 6

O-rings l i

7
Flow regulating switch . /-' s

Valve body %
‘-- i 9
10

%q :

B

=
o
O

=
=

=
N

B ‘ @
inlet DC _ _ SM
Waterproof DC line Two core waterproof line SM line
N T4
VI BRI Note
1 “ " When ordering, please specify the specifications and quantity of the required product

according to the "model meaning".

: TCF-A/DC 6V/ A Type: TCF - A/DC 6V/DC pulse type two-core waterproof lineA.
: TCF-A; DC 6V, The figure of this model is the following: type: TCF - A; Voltage:DC6V,;
; A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail whenordering.
40 | XINGFENG

O AATE O PPEERE O Ak
() ZLAMAIR. () KERR

XFBZ

Model : TCF-B

ZERH2FR Accessories

z
o

Name

Power cord

Coil components

4-M4 Screw 4-M4

Acting valve core spring

Movable valve core
components

O O-rings

O O-rings

Cover

© |00 | N | g~ W|[N|F

Since the spring cleaning

[
o

Diaphragm components

=
[N

Valve body

inlet
1TERAD

1 « "

: TCF-B/DC 6V/ A
: TCF-B; DC6V;

YMZR~ B Size of installation

330

f

DC SM

Waterproof DCline  Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Type: TCF — B/DC 6V/DC pulse type two-core waterproof line A.

The figure of this model is the following: type: TCF - B; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail whenordering.

XINGFENG | 41

]
&
s
e
B
@
)
&
5

o
o
8
El
S
=
=
@
=
21
@
=%
°
=
@
@
<
£
<
@
1
&
B
»




XFBZ

O A&IATE () BiEIERE
() ZLAMAIRY. () KERR

& — 1L BKIP I

Ceramic integrated pulse valve series

O A

XFBZ

Model : TCF-C

HMEZR~ B Size of installation

Model : TCF-D

d

YMZR~ B Size of installation

JS
" 275

88.5

i MAE

275

9g

28 1
6

258
@ &

©
6.5

ZEH2R Accessories F=Ga 4B Stucture Diagram SEHHR Accessories F=Ga 43 #RE Stucture Diagram
NO. Name NO. Name 1
1 Power cord 1 Power cord
2 Coil components 2 Coil components
3 4-M4 Screw 4-M4 3 4-M4 Screw 4-M4 2
4 Acting valve core spring 4 Acting valve core spring 3
» 5 Componens - 5 Components - ' I < 4 -
% g 6 o] O-rings 6 o O-rings gﬂ 5 % g
—z 7 (e} O-rings 7 o O-rings g
ﬁ'js § 8 Cover 8 Cover H 6 }ﬁ E
1;17? %; 9 Since the spring cleaning 6 9 Since the spring cleaning % 7 ?Eﬂ; ‘%
i % 10 Diaphragm components ; 10 Diaphragm components . fal %
?ﬁ % 11 Valve body 9 11 Flow regulating switch g g-\l] %
@ 12 Inlet pipe pieces 12 Inlet pipe pieces % 10 .
13 Water pipe fittings 10 13 Valve body 11
1 Water pipe fittings

12

13

4
) m‘é‘“ﬂﬂlﬂw
5

13mm 15mm
B B A , B , ,
0 B
30mm 33mm inlet inlet DC SM 15mm 33mm DC SM
Waterproof DCline  Two core waterproof line SM line Waterproof DCline  Two core waterproof line SM line
N T4 N T84
VTG Note VB Note
“ " When ordering, please specify the specifications and quantity of the required product “ " When ordering, please specify the specifications and quantity of the required product
1 h deri | ify th ificati d ity of th ired prod 1 h deri | ify th ificati d ity of th ired prod
according to the "model meaning". according to the "model meaning".
- TCE-C/DC 6V/ A Type: TCF - C/DC 6V/DC pulse type two-core waterproof line A. - TCE-D/DC 6V/ A Type: TCF — D/DC 6V/DC pulse type two-core waterproof line A.
- TCF-C: DC 6V: The figure of this model is the following: type: TCF - C; Voltage: DC6V; - TCF-D, DC6V; The figure of this model is the following: type: TCF - D; Voltage: DC6V;
. . witch type: dc pulse type; The type of line: type: two-core waterproof line A; . . witch type: dc pulse type; The type of line: type: two-core waterproof line A;
A Switch d | Th fli f line A : A Switch d | Th f i f line A
2 If the user has special request, please specify in detail when ordering. 2 If the user has special request, please specify in detail when ordering.

42 | XINGFENG XINGFENG | 43



o
@
8
El
S
=
=
@
=
=4
@
=%
°
=
@
@®
<
=
<
@
17
T
=
»

XFBZ

& — 1L BKIP I

Ceramic integrated pulse valve series O LAMRIENE O FARAfR

Model : TCF-E

ZEEBFR Accessories

z
o

Name

Power cord

Coil components

Screw 4-M4

Acting valve core spring

Movable valve core
components

O-rings

Flow regulating switch

0l N O g |~ | WN (P

Cover

Fliter the fnlot W Control
component

10

Since the spring cleaning

11

Diaphragm components

12

O-rings

13

Valve body

E1l
N T4
11537

1

: TCF-E/DC 6V/

44 | XINGFENG

E3

: TCF-E, DC 6V,

O AATE O PPEERE O Ak

XFBZ

MR B Size of installation Model : TCF—F

G1/2
TN

35

=G EE Stucture Diagram TR Accessories

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components
6 (0] O-rings
7 Cover
8 Since the spring cleaning
9 Diaphragm components
10 (0] O-rings
11 Valve body
SM inlet
Waterproof DC line  Two core waterproof line SM line
N T4
Note VIR
When ordering, please specify the specifications and quantity of the required product 1
according to the "model meaning".
Type: TCF - E/DC 6V/DC pulse type two-core waterproof line A. - TCF—F/DC 6V/ A
The figure of this model is the following: type: TCF - E; Voltage: DC6V; - TCF—F DC 6V
Switch type: dc pulse type; The type of line: type: two—core waterproof line A; .
If the user has special request, please specify in detail when ordering. 2

YMZR~ B Size of installation

230

o]

FraaD#EE Stucture Diagram

© (0 (N (O

11

Waterproof DCline  Two core waterproof line

Note

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Type: TCF - F/DC 6V/DC pulse type two-core waterproof line A.

The figure of this model is the following: type: TCF - F; Voltage: DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

XINGFENG | 45

SM

SM line

o
@
=
3
5
z
3
)
“
=%
@
=
©
=
@
o
<
2
<
@
I
o
=
)




XI}I%Z® B@%_ﬁsﬂﬁﬂﬁ)qjhﬂ O &FEEW O bt O #GK XI’I%Z(a

Ceramic integrated pulse valve series O LAMRIENE O FARAfR

Model : TCF-G HMNIZ R~ B Size of installation Model : TCF-H SN2 R~ B Size of installation

] N— @fﬂmj

G —

N %
[0
N

25

24.5

o : Sk : = 7 H
TEFEZFR Accessories ZEHRFR Accessories FEROERE Stucture Diagram
NO. Name NO. Name
1 Power cord 1 Power cord
2 Coil components 2 Coil components
3 4-M4 Screw 4-M4 3 4-M4  Screw 4-M4
4 Acting valve core spring 4 Acting valve core spring
5 Movable valve core 5 Movable valve core
o components components »
@ : o
% g 6 0 O-rings 6 o O-rings |
— % 7 Flow regulating switch 7 Cover 5 %
ﬁ % 8 Cover 8 Since the spring cleaning E,
E?é 2 9 Fliter the fnlot W Control 9 Diaphragm components 6 g
@ o
i z component 10 o O-rings ; :
g.\l] % 10 Since the spring cleaning 1 Valve body 3 %
a 11 Diaphragm components g £
12 O O-rings
13 Valve body 10
11
-FA -FA
B B
inlet DC SM inlet DC SM
Waterproof DC line  Two core waterproof line SM line Waterproof DCline  Two core waterproof line SM line
N T4
VIERAD Note VIERA] Note
1 . N When ordering, please specify the specifications and quantity of the required product 1 “ " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning". according to the "model meaning".
- TCE-G/DC 6V/ A Type: TCF -G/DC 6V/DC pulse type two-core waterproof line A. - TCE=H/DC 6V/ A Type: TCF - H/DC 6V/DC pulse type two-core waterproof line A.
TCE-G DC 6V- The figure of this model is the following: type: TCF - G; Voltage: DC6V; - TCF-H DC 6V The figure of this model is the following: type: TCF -H; Voltage: DC6V;
' ' ’A Switch type: dc pulse type; The type of line: type: two—core waterproof line A; . A - Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 ' ' If the user has special request, please specify in detail when ordering. 2 If the user has special request, please specify in detail when ordering.

46 | XINGFENG XINGFENG | 47



4 ®
5 = R \FI:Z

@60 ==y - Large red pulse valse series

. B/S] EQ / D}\ FARIEFNRSH Technical Feature & Parameter
& BV I 1B I e e Tos

Coil resistance 17Q+ 0.5Q (20 )
RREY (VR AR AR (KRR
Pulse width 30-50ms

Operating pressure 0 .02Mpa~0.8Mpa

Media temperature 1 ~75

Responding time < 0.15s < 0.5s opens< 0.15s close< 0.5s
y Mpa
Working flow rate (for reference) X =263.1y+29.3+ 1L
1
* ENESREFIKA
Relation between pressure 08 —
and flow rate 06 /
0.4 /
0.2
0 1 \.‘( 1 1 1 1 1 1 1 1 1 X L/mln
0 50 100 150 200 250 300
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 24 56.4 100.8 122.4 142.8 162 178.8 193.2 242
* 4BEIRIE Performance test
The strength test 1 .6MPa Static pressure Withstand voltage pressure 1.2Mpa/5min
No-load test Voltage V*3.6( Pulse width 50ms( ) () Permissible limiting voltage V*1.15
- 0.8Mpa DC4.5V 50ms -
7(3 High water pressure startup and closing At water pressure 0.8Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally x 2
[) @
P35 P 3
BX< 0.02Mpa DC4.5V 50ms Brs
}EP s Low water pressure startup and closing At water pressure 0.02Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally }E]:I =
L) L)
g é Leakage upon high water pressure | 1.2 Mpa 1.2Mpa zero leakage I%! §
71\ @ JN©
g Leakage upon low water pressure | 0.02Mpa < 0.1mL/min 0.02Mpa leakage < 0.1 mL/min Bl &
& 500v/50Hz 0.75mA 1 min @
Electric strength Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown
. . 500V > 20MQ
Insulation resistance The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20MQ
. High pressure 1 MPa
Air
Low pressure 0.02 MPa
Sealing test . High pressure 1.2 MPa
Static pressure Cold water
Low pressure 0.02 MPa
High pressure 0.8 MPa
Hot water
Low pressure 0.02 MPa
Service life > Min 1,000,000 cycles (CJ/T194-2004)> 1 000 000 CJ/T194-2004
* T{EMREZESK Requirements of working environment
A N
g/% o *EEJ& Summ(]ry Temp.of working environ mlent 1 ~+60 Permissible limiting pressure (water pressure) < 1.2Mpa
Used in the automatic control system, infrared induction sanitary ware fluid, switch control, o o 60
i i iabili ice li 35%-90%RH( ) Itis mounted in vertical direction
internal use of two cavity pressure control, enhanced the reliability of the valve and service life, Humidity of working environment | 35% —90% RH(No condensation state) | Mounting direction the inclination doesn't excead 60 ’de rees
reduces the maximum and minimum pressure valve switch is needed for the pulse width, the 9
unique impurities self-cleaning function, make it has held in superior performance.The design -5~+80 ( ) 0.2Mpa
manual, automatic flushing function is adopted in the form of the first step ,which solves the Storage temp -5~ +80 (No freezing state) Water pressure )
user' s concern and satisfise the personalized demand of the product. 25%~ 95% RH(
Storage humidity 25%~ 95% RH(No condensation state)

48 | XINGFENG XINGFENG | 49



SN TITHH

—
L

(=]
(]
@
a

o
=
@
@
<
=
<
)
)
]
=
)

\FEZ

NIPEKIPHE]

Large red pulse valse series

Model: DCF-A

ZEEBFR Accessories

SNFZR~F B Size of installation

N

F& 2B Stucture Diagram

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw4-M4
4 Acting valve core spring
Movable valve core
5 components
6 (0] O-rings
7 O O-rings
8 Cover
9 Since the spring cleaning
10 Diaphragm components
11 Control Valve body
12 Flow regulating switch
13 Water pipe fittings
14 O O-rings
15 Main spring
16 Main valve core
17 Main body
DC SM
A Waterproof DCline  Two core waterproof line SM line
VT EIRD NoTe
" When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCE-A/DC 6V/ A Model: DCF-A/DC 6V/DC pulse type two-core waterproof wire A.
DCF-A DC 6V This model has the following meaning: Voltage:DC 6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
If the user has special request, please specify in detail when ordering.
50 | XINGFENG

MR A® [ PiskiEee

O A

OJ LLAMAIR. () KERR

\FiZ

Model: DCF-B

ZERH2FR Accessories

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw4-M4
4 Manual button assembly
5 Acting valve core spring
6 O O-rings
’ R
8 (0] O-rings
9 (0] O-rings
10 Cover
11 Since the spring clean ing
12 Diaphragm components
13 Control valve body
14 Flow regulating switch
15 Main valve cover
16 (¢] O-rings
17 Main spring
18 Main valve core
19 Main body

A/B-1 Gl" A/B-2

nner thread M39x1.5
outer thread

17

1

EURAD

DCF-B/DC 6V/

A/B-3
M40x2
outer thread

DCF-B DC 6V

SN2 R~ B Size of installation

275

i
S

14
15
16
17 ’

=

[o¢]

10
11

12

13

%% G

DC SM

Waterproof DCline  Two core waterproof line SM line

NoTe

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Model: DCF-B/DC 6V/DC pulse type two-core waterproof wireA.

This model has the following meaning: the type: DCF-B;Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

XINGFENG | 51

X
o
B
P
K&l
A
3l

sal1as aAfeA asind pal abie




SN FTITH

—
L

(=]
]
@
a

o
S
@
@
<
=
<
@
)
]
=
4

XFBZ

NIPEKIPHE]

Large red pulse valse series

Model: DCF-C

ZEEBFR Accessories

SNFZR~F B Size of installation

g e

70

NO. Name 12
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable velve core
6 (¢] O-rings
7 O O-rings
8 Cover
9 Since the spring cleaning
10 Diaphragm components
11 Control Valve body
12 Flow regulating switch
13 Main valve cover
14 O O-rings
15 Main spring
16 Main valve core
17 Main body

AB-1 Gl"
nner thread

VT EAD
1

DCF-C/DC 6V/

52 | XINGFENG

A/B-2 A/B-3
M39x1.5 M40x2
outer thread outer thread

A
DCF-C DC 6V

DC SM

Waterproof DCline  Two core waterproof line SM line

NoTe

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Type: DCF-C/DC 6V/DC pulse type two-core waterproof wireA.

This model has the following meaning: the type: DCF-C;Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

O AATE O PPEERE O Ak
() LLAMAIR. () KERR

XFBZ

Model: DCF-D

ZERH2FR Accessories

SN2 R~ B Size of installation

FraaD#EE Stucture Diagram

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Noyae e core
6 (0] O-rings
7 (0] O-rings
8 Cover
9 Since the spring cleaning
10 Diaphragm components
11 Flow regulating switch
12 Main valve cover
13 (0] O-rings
14 Main spring
15 Main valve core
16 Flow regulating switch
17 Main body

A/B-1 Gl" A/B-2 A/B-3

nner thread M39x1.5 M40x2
outer thread outer thread

N R =7
VBRI

1

DCF-D/DC 6V/ A
DCF-D DC 6V
A

2

DC

Waterproof DCline  Two core waterproof line SM line

NoTe

SM

When ordering, please specify the specifications and quantity of the required product

according to the "model meaning'".
Type: DCF-D/DC 6V/DC pulse type two-core waterproof wireA.

This model has the following meaning: the type: DCF-D;Voltage:DC6V;
Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

XINGFENG | 53

X
i
BX
@
K&l
A
3l

salas anfen asind pal abie




® N Ju 3 = M &k P v ®
= = \ 351 D O APTEHE O BiEERE O Bk N/
XFZ NIPIRITH - XFZ
A V= Large red pulse valse series (J LHMRIRRE. () H7KAMR A Vea-=

Model: DCF-E HMNIZ R~ B Size of installation Model: DCF-F SN2 R~ B Size of installation

ﬂﬁﬂj 0

2 2-M39*1.5
/f\\ N f 2
bg g
o3 . — ) H oL : o 7 :
TEMHEZHR Accessories FrEaDfEE Stucture Diagram BEMHE2FR Accessories FEERDHRE Stucture Diagram
NO. Name NO. Name
1 Power cord 1 Power cord 1
2 Coil components 2 Coil components
3 4-M4 Screw 4-M4 3 4-M4 Screw 4-M4 2
4 Acting valve core spring 4 Acting valve core spring
5 Movable valve core 5 Movable valve core 3
components components
6 (e} O-rings 6 (e} O-rings 12
7 (0] O-rings 7 (¢] O-rings
8 Cover 8 Cover E
9 Since the spring cleaning 9 Since the spring cleaning
— . R —
7(% 10 Diaphragm components 10 Diaphragm components ﬁ 7(%
plua g 11 Control Valve body 11 Control Valve body Pz
\, Q 2
}\]7]\3 12 Flow regulating switch 12 Flow regulating switch % "-37]\2_
itk : - S Py
iR s 13 Main valve cover 13 Main valve cover s
gﬁ f 14 Main spring 14 Main spring 19_?'] §
2 ©
2 15 Main diaphragm assembly 15 Main diaphragm assembly o
‘ ‘ ’; B
, A
y Mpa Working flow rate (for reference) X =188.6y+36.4+ 1L
DC SM .
) ’ ’ 0. o
Waterproof DC line Two core waterproof line SM line
0.6 //./'
* ENSHRBINFER _—
Relation between pressure 02 -
. e
and flow rate 0 — [, . . X Umin , ,
0 50 100 150 200
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 30 55.2 84 103.2 118.8 1325 147 162 175.2 thC e i Ssm
aterproof ine ‘wo core waterproof line ine
N 0= ST
VT B30 NoTe AT NoTe
1 " " When ordering, please specify the specifications and quantity of the required product 1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning". according to the "model meaning'".
DCF-E/DC 6V/ A Type: DCF-E/DC 6V/DC pulse type two-core waterproof wireA. DCE-F/DC 6V/ A Type: DCF-F/DC 6V/DC pulse type two-core waterproof wireA.
DCE-E DC 6V This model has the following meaning: the type: DCF-E;Voltage:DC6V; DCE-F DC 6V This model has the following meaning: the type: DCF-F;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A; A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering. 2 If the user has special request, please specify in detail when ordering.

54 | XINGFENG XINGFENG | 55



O A&IATE () BiEIERE

() LLAMAIR. () KERR

RIPPXDPHE © Hrk
Large red pulse valse series

\FEZ

Model: DCF-G

XFBZ
A V=

ZERHZFR Accessories

56 | XINGFENG

HMEZR~F B Size of installation

2-M39*1.5 (= F 6 %
2-Mae*

Model: DCF-H

XINGFENG | 57

NO. Name > . . .
2N &
. bomer cord HMZR < BSize of installation
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components
6 O-rings
7 O-rings
8 Cover 60
12
9 Since the spring cleaning
- : K -
7(% 10 Diaphragm components J X{-ﬁ
Pz 11 Control Valve body jlua
= 0 > Q
ﬂﬂ(? 12 Flow regulating switch H7]<E
Pz ihg
) 5 13 Main valve cover 23| s
s in spri Rs
:Q-U 2 14 Main spring o £§ﬂ .
) 15 Main diaphragm assembly 2 2
XRRXX
BA (max) 126mm
B\ (min) 112mm 116
250
DC SM
N Waterproof DCline  Two core waterproof line SM line A
VT B30 NoTe AT NoTe
1 When ordering, please specify the specifications and quantity of the required product 1 When ordering, please specify the specifications and quantity of the required product
according to the "model meaning". according to the "model meaning'".
DCF-G/DC 6V/ A Type: DCF-G/DC 6V/DC pulse type two-core waterproof wireA. DCFE-H/DC 6V/ Model: DCF-H/DC 6V/DC pulse type two-core waterproof wireA.
DCE-G DC 6V This model has the following meaning: the type: DCF-G;Voltage:DC6V; DCE-H DC 6V This model has the following meaning: the type: DCF-H;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A; A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering. 2 If the user has special request, please specify in detail when ordering.




n —ay ® =\ VE s iz = =gy®
x I{‘ I ?t Lajr;)lrfc?;]t\ﬂ);f \llg?se series gﬁz— x I’ I F£

Coil series

Model: DCF-HS Model: XQ-18 SN2 R~ BSize of installation

[ — o ; ®18.5

24
- ‘ 18

) E=ge
8 /[ - _
— w‘) j ¥
o e 7
Model: XQ-20A HMZ R~ BSize of installation

SN2 R~ BSize of installation -

D225
27

31.5

i

i

®24

Model: XQ-208B Y2 R BSize of installation

“ L —
ﬁ 24.5 27
24.5

20

1
J g

N e D
INZFFIHFH
salas aAjeA as|nd pal abireT

70

32

3756

20
255
27

FA (max) 133mm E% @

BV (min) 112mm l_g,_l N %‘
®24 N

y Mpa Working flow rate (for reference) X =3.97y + 4.94+ 0.5L
* ENERENKRA 1
Relation between pressure 08 Lo

and flow rate 06 /

i—.l-ﬁ'%ﬁﬁj%n NoTe 0.4 /'/
’ 0.2 —

1 f " When ordering, please specify the specifications and quantity of the required product '/,.//' )
according to the "model meaning". 0 0 =t I — 2 -~ p” X L/min
DCE-H/DC 6V/ A Model: DCF-H/DC 6V/DC pulse type two-core waterproof wireA.
DCF-H DC 6V This model has the following meaning: the type: DCF-H;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A; (MPa) Pressure (MPa) 00 O e o sy 0 e o Ot
2 If the user has special request, please specify in detail when ordering. (KG/min) Average flow rare(KG/min) 3.2 8.8 145 18.2 21.6 24 26.8 28.3 30.6

58 | XINGFENG XINGFENG | 59



'|‘|E7® 2% & [Ty ‘|‘|E7®
{ Y & - 4 —Y
A\ va: Coil ries Large red pulse valse series A J B

Model: XQ-21 IMER T BSize of installation Model: CK-A IMERT ESize of installation
C3 ', * 026.5
’ o
LT T 2 1 i 5
| © 2
e — 1 u B
Model: XQ-26 SN2 R~ BSize of installation Model: CK-B HNFZ R < BSize of installation
026.1 032 ‘
= = T 13 847 P
I:IE{WR $295 @ gii::
AL - 243 S
| ey | Q ol N
j;ft ©
77 Ca=as
$27
Model: XQ-30 SN2 R~ BSize of installation Model: CK-C HNFZ R < BSize of installation
2
B .
2H 1 [
6- 825 415

30.2

Sa—as
27

60 | XINGFENG XINGFENG | 61



	兴丰样本202301网版
	兴丰样本202302网版
	兴丰样本202303
	兴丰样本202304网版

